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1, CutimbpsS amtΩmZok A\pkvacn°p∂ Xncp\mƒ GXmWv?
A. kz¿§mtcmlW Xncp\mƒ  B. Z\lm Xncp\mƒ C. Dbn¿∏p Xncp\mƒ D. {InkvXpakv

2. Z\lm F∂ hm°ns‚ A¿∞w F¥mWv?
A. Ab°s∏´h≥ B. {]Xy£oIcWw C. A¤pXw D. hnfn°s∏´h¿

3.  F∂mWv Z\lm Xncp\mƒ BtLmjn°p∂Xv?
A. s^{_phcn 3 B. sk]v‰w_¿ 4 C. BKÃv 2 D. P\phcn 6

4. {]mhns‚ cq]Øn¬ CutimbpsS ta¬ Cdßn h∂Xv BcmWv?
A. injy∑m¿ B. kv\m]Itbml∂m≥ C. ]cnip≤mflmhv D. Hutk∏nXmhv

5. ]nXmhmb ssZhØns‚ {]nb]p{X≥ BcmWv?
A. injy∑m¿ B. Hutk∏nXmhv C. Cutim D. kv\m]Itbml∂m≥

6. BcpsS t]cmWv \Ωƒ amtΩmZok t]cmbn kzoIcn°p∂Xv?
 A. amXm]nXm°fpsS B. hnip≤∑mcpsS C. XesXm´∏s‚ D. kvt\lnXcpsS

7. BcmWv amtΩmZok thfbn¬  \ap°pth≠n kwkmcn°p∂Xv?
A.  amXm]nXm°ƒ B. XesXm´∏\pw XesXm´Ωbpw C. kvt\lnX¿  D. IpSpw_mwKßƒ

8. ]≈nbn¬ FhnsSsh®mWv \Ωƒ amtΩmZok kzoIcn°p∂Xv?
A. AƒØmc B. aZv_l C. amtΩmZok sXm´n¬ D. k¶o¿Øn

9. Bcn¬ \n∂mWv Cutim amtΩmZok kzoIcn®Xv?
A. injy∑m¿ B. Hutk∏nXmhv C. kv\m]Itbml∂m≥ D. P\Øn¬\n∂p

10. amtΩmZokhgn \Ωƒ Bcmbn Xocp∂p?
A. ssZha°ƒ B. injy∑m¿ C. a°ƒ D.  Bflob¿


